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Question Number : 1 Question Id : 89951413404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Designing a study 1s a resource allocation problem. Why?

Data collection mvolves only time

Data collection involves only manpower

Data collection involves both time and manpower
None of the above

sl o

Options :

89951452179. 1
89951452180. 2
89951452181. 3
89951452182. 4

Question Number : 2 Question Id : 89951413405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Facebook login page says the following: “Create an account or log into Facebook. Connect with
friends, family and other people you know. Share photos and videos, send messages and get
updates.” What kind of value is it communicating?

1. Social value
2. Experiential value
3. Functional value
4. Economic value
Options :
89951452183.

1
89951452184.2
89951452185. 3
89951452186. 4



Question Number : 3 Question Id : 89951413406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these cannot increase a consumer’'s WTP?

Branding

Product enhancement
Value-added services
Reducing manufacturing cost

ol e

Options :

89951452187. 1
89951452188. 2
89951452189. 3
89951452190. 4

Question Number : 4 Question Id : 89951413407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Here are two statements:

A— Other things kept constant, the value to a consumer increases if price is decreased.
B — Other things kept constant, the value to the seller increases if cost is decreased.
Which of the above is false?

Aand B
Only Abut not B

Only B but not A
Meither & nor B

o

Options :

89951452191. 1
89951452192. 2
89951452193. 3
89951452194. 4

Question Number : 5 Question Id : 89951413408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of these is not a way to increase seller’s profit?

Reducing cost of manufacturing

Increasing customer’s WTP through product enhancement and branding
Increasing price bevond WTP

Decreasing price to increase demand

i

Options :

89951452195. 1
89951452196. 2
89951452197. 3
89951452198. 4

Question Number : 6 Question Id : 89951413409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these 15 not a marketing decision variable that a marketing manager can directly set?
1. Price
2. Retail layout
3. Salestax
4, Packaging color

Options :

89951452199. 1
89951452200. 2
89951452201. 3
89951452202. 4

Question Number : 7 Question Id : 89951413410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Here are two statements.

A — WTP 1s constant across CONSIMMErs.

B — It 1= possible to estimate demand from WTP distributions.
Which of the above 15 false?

1. Aand B

2 Only A but not B

3. Only B but not A

4. Meither A nor B



Options :

89951452203. 1
89951452204. 2
89951452205. 3
89951452206. 4

Question Number : 8 Question Id : 89951413411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Here are two excerpts from different hotel websites

A —“Surrounded by lush lawns and soothing water bodies, Taj Bangalore 15 a 154-key luxury hotel
designed to capture the essence of the city’s modernity and 1ts beautiful weather.™

B — “With state-of-the-art facilities, this 1s your own office space in Mumbai. We're open all night. to
accommodate any time zone, and match any schedule! Quick connectivity helps you work 1n a jiffy "
What values do they respectively communicate?

1. A —social; B — experiential
= A —experiential; B — experiential
3. A — experiential; B — functional

4. A — functional; B — functional
Options :
89951452207. 1
89951452208. 2
89951452209. 3
89951452210. 4

Question Number : 9 Question Id : 89951413412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WalKart 1s an online retailer that has discovered that its sales revenues have been decreasing year after
year while its competitor, Nile is gaining more and more market share. To address this, which of the
following is the best goal for designing a market research study?

1. What 1s the best way to redesign the website?

2 What are the best discounts to offer the consumers?
3. What are the causes of declining revenue?

4 How do we best pivot our business model?
Options :
89951452211. 1
89951452212. 2



89951452213.3
89951452214. 4

Question Number : 10 Question Id : 89951413413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Imagine you run a music record business. Which of these 1s NOT a secondary source of data?
1. AC Nielsen’s SoundScan data, covering retail sales of music albums in major retailers
2 Customer feedback left on your website by customers
3 Billboard Magazine's top 100
4 Amazon’'s user reviews of various albums
Options :
89951452215. 1
89951452216. 2
89951452217. 3
89951452218. 4

Question Number : 11 Question Id : 89951413414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of these scenarios 1s it NOT advisable to outsource marketing research?
1. ¥ou don’t have people qualified 1 marketing research methods
2.Qutsourcing marketing research 15 more expensive than doing 1t in-house
3.You have a large marketing research team
4 You need an outsider’s perspective on yvour business
Options :
89951452219. 1
89951452220. 2
89951452221. 3

89951452222. 4

Question Number : 12 Question Id : 89951413415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Exaggeration bias means:
1.Stated WTP 1s more than revealed, or actual WTP
2 People exaggerate their professional qualification
3 Extreme fluctuations in mood
4 WTP is negative
Options :
89951452223. 1
89951452224.2
89951452225. 3

89951452226. 4

Question Number : 13 Question Id : 89951413416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of these 15 NOT a feature of conjoint analysis?
1.Can be used to determine optimal product features
2.Can be used as a pricing tool

3.Can be used to analyze people’s emotions
4 Can be used to redesign existing products

Options :

89951452227. 1
89951452228.2
89951452229. 3
89951452230. 4

Question Number : 14 Question Id : 89951413417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
In the van Westendorp method, pricing iz based on how many data points per individual?

1. One

2. Two

3. Three

4. Four

Options :

89951452231. 1
89951452232.2
89951452233. 3



89951452234. 4

Question Number : 15 Question Id : 89951413418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A bid in an auction, where you are required to buy something at the price you quote 1f you win 1s:

1. Stated preference

2 Revealed preference

% Exaggerated to fool the auctioneer
4 None of the above
Options :

89951452235. 1
89951452236. 2
89951452237.3
89951452238. 4

Question Number : 16 Question Id : 89951413419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
You have the following options to design a laptop: RAM 1GB/2GB/4GB; HDD:512GB/1TE; Price: Bs

30000, Rs 40000, Rs 50000,
How many possible product configurations can you have with these three attnbutes?

L 18
2. 24
3. 14
4. 30
Options :

89951452239. 1
89951452240. 2
89951452241. 3
89951452242. 4

Question Number : 17 Question Id : 89951413420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of these cannot be designed with conjoint analvsis?

1. Laptops

2. Cars

3. Movies

4. Refrigerators
Options :

89951452243. 1
89951452244. 2
89951452245.3
89951452246. 4

Question Number : 18 Question Id : 89951413421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these Likert scales does not have a neutral or midpoint?

1. 5 pont
2 7 point
3. 10 point
4. 11 point
Options :

89951452247. 1
89951452248. 2
89951452249. 3
89951452250. 4

Question Number : 19 Question Id : 89951413422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these 1s an open-ended survey item?

1 Likert scale

P Multiple choice

3 Text input

4. MNone of the above
Options :

89951452251. 1
89951452252. 2



89951452253.3
89951452254. 4

Question Number : 20 Question Id : 89951413423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Consider the question: “As a patriot, do you agree that you should pay taxes? [YESNO].”
What is wrong with this question?

1Tt asks many questions and should be split

2.1t 1z a leading question that appeals to the supposed patriotism of the respondent

3 It should be framed as a 7-point Likert scale

4 None of the above

Options :

89951452255. 1
89951452256.2
89951452257. 3
89951452258. 4

Question Number : 21 Question Id : 89951413424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The 1deal number of segments 1n any marketing application 1s:
1. Two

2

3. Four

4. None of the above
Options :
89951452259. 1
89951452260. 2

89951452261. 3
89951452262. 4

Question Number : 22 Question Id : 89951413425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Imagine you have three points in a 3-dimensional space represented by (x,y,2).

These points are (1,2.3), (1,4.7) and (2,1,8). The centroid of the cluster formed by these three points is:

1. (2.67.1.33, 6.33)
2. (1.33.2.33. 6.00)
3. (2.67.2.67. 6.00)
4. (1.33,2.33, 6.67)
Options :

89951452263. 1
89951452264. 2
89951452265. 3
89951452266. 4

Question Number : 23 Question Id : 89951413426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s updated in every iteration of k-means clustering?
Cluster centroids

Assignment of points to each cluster

Both 1 and 2

Neirther 1 nor 2

B b

Options :

89951452267. 1
89951452268. 2
89951452269. 3
89951452270. 4

Question Number : 24 Question Id : 89951413427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The purpose of targeting 1s to:

1.Serve everyone in the market according to their preferences
2 Increase prices of products

3 Focus on one or a few segments instead of everyone

4 None of the above

Options :
89951452271. 1



89951452272. 2
89951452273. 3
89951452274. 4

Question Number : 25 Question Id : 89951413428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect?

1 k-means clustering is a method of segmentation

2 k-means clustering 1s a method of targeting

3 k-means clustering 1z an unsupervised machine learning algorithim
4 k-means clustering 15 widely used in marketing research

Options :
89951452275. 1
89951452276. 2

89951452277. 3
89951452278. 4

Question Number : 26 Question Id : 89951413429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these price discrimination schemes can get you into trouble in India?

1. 10%; off for HDFC bank cards only
2 5% cashback for Paytm users
3 20% discount for Brahmins

4. None of the above
Options :

89951452279. 1
89951452280. 2
89951452281. 3
89951452282. 4

Question Number : 27 Question Id : 89951413430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



You find your married colleague on a dating app. You should:

1 Alert the police

2 Alert his employer

3. Alert his doctor

4. None of the above
Options :

89951452283. 1
89951452284. 2
89951452285. 3
89951452286. 4

Question Number : 28 Question Id : 89951413431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Influencer marketing 1s:

1. Tlegal

2. Immoral

% Alright as long as the influencer-brand relationship 1s explicitly stated
4 Deplorable
Options :

89951452287. 1
89951452288. 2
89951452289. 3
89951452290. 4

Question Number : 29 Question Id : 89951413432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Electricity bills are a great source of consumer data as 1t provides a good idea of how many appliances
a household has. Your friend at the electricity board offers you copies of all electricity bills. This can

be used for:

1 Advising consumer electronics companies on whom to sell new refrigerators to
ol Designing special offers for specific households to save energy

3. Discounts on solar heaters

4 None of the above
Options :

89951452291. 1
89951452292. 2



89951452293. 3
89951452294. 4

Question Number : 30 Question Id : 89951413433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Your company has developed a data mining algorithm that can identify the whereabouts of dissidents

of a dictatorial regime that 15 friendly to India. They are known to jail dissenters. You do this by
finding their locations from their Tweets. You should:

1 Sell the data to the Indian Government
2 Sell the data to the foreign government
3. Sell the data to a third-party agency
4. None of the above

Options :

89951452295. 1
89951452296. 2
89951452297. 3
89951452298. 4

Question Number : 31 Question Id : 89951413434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these would not be considered ok in most markets?

1 Targeted ads for travel insurance from your foreign company visa data
2 Targeted ads for weight loss programs from your fast food consumption data
3. Targeted ads for yoga from your hospital patient data
4. All of the above
Options :

89951452299. 1
89951452300. 2
89951452301. 3
89951452302. 4

Question Number : 32 Question Id : 89951413435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



You run a college that 1s looking for higher rankings 1n an all-India ranking exercise. You can:

1 Request alumni to respond to survevs

2 Pay alummni to give you high ratings

3 Request students to respond to surveys with only high scores
4 None of the above
Options :

89951452303. 1
89951452304. 2
89951452305. 3
89951452306. 4

Question Number : 33 Question Id : 89951413436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these 15 not an accepted form of targeted advertising?
1 Pamphlets for a local store 1n your newspaper
2. Your restaurant using your personal details from Swiggy to sell vou food
3 Your supermarket giving you an offer on your loyalty card membership
4 None of the above
Options :
89951452307. 1
89951452308. 2
89951452309. 3

89951452310. 4

Question Number : 34 Question Id : 89951413437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Lower prices on healthcare are not ok if given to:

1. Semntor citizens
2. Small children
3. Scientologists

4. MNone of the above

Options :

89951452311. 1
89951452312. 2
89951452313.3



89951452314. 4

Question Number : 35 Question Id : 89951413438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Willingness-to-pay 1s the amount of money one would pav for a product

1. Maximum

2. Minimum

3. Mean

4, Median

Options :

89951452315. 1
89951452316. 2
89951452317. 3
89951452318. 4

Question Number : 36 Question Id : 89951413439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

You have the following options to design a hotel room: Bed size: King/Queen; Free breakfast:
Included/excluded; Price: Rs 3000, Bs. 3500, Bs 40000, Bs 50000; Wifi: Included/excluded

How many possible product configurations can vou have with these four attributes?
1. 8
2. 16
3. 20
4, 32

Options :

89951452319. 1

89951452320.2

89951452321. 3

89951452322. 4

Question Number : 37 Question Id : 89951413440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of these is NOT an ethically acceptable way of collecting consumer data?
1 Floating online surveys

2 Analyzing public social media posts
3 Tapping phone calls

4 Approaching store customers to answer a few questions
Options :

89951452323. 1
89951452324. 2
89951452325.3
89951452326. 4

Question Number : 38 Question Id : 89951413441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Imagine you have two points in a 2-dimensional space represented by (x.v). These points are (8.2),
(2,7) and (2.1). The centroid of the cluster formed by these three points 1s:

1. (2.67. 1.33)
7 (4.00, 3.33)
3. (2.67, 2.67. 6.00)
4. (1.33,2.33, 6.67)

Options :

89951452327. 1
89951452328. 2
89951452329. 3
89951452330. 4

Question Number : 39 Question Id : 89951413442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these products should NOT be designed using conjoint analysis?

1. Cellphones

2 Movies

3. Bank investment products
4 Hotel rooms

Options :
89951452331. 1
89951452332.2



89951452333.3
89951452334. 4

Question Number : 40 Question Id : 89951413443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Consider the question: “Did you drink Pepsi and Coke last week?” What 1s wrong with this question?
1. It asks many questions and should be split
It is a leading question

2.
3. It should be framed as a 7-point Likert scale
4, MNone of the above

Options :

89951452335. 1
89951452336.2
89951452337. 3
89951452338. 4

Question Number : 41 Question Id : 89951413444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following 1z an unethical practice?
1. Try to sell a product to survey respondents after they answer a survey
2 Buy customer information from employees of banks who have collected know-your-customer (KYC)
documents

3 Asking a respondent to change an undesirable response
4 All of the above

Options :

89951452339. 1
89951452340. 2
89951452341. 3
89951452342. 4

Question Number : 42 Question Id : 89951413445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The number of target segments is:

1 Equal to the number of segments

2 Less than or equal to the number of segments
3 Mean of the number of segments

4 Two

Options :

89951452343. 1
89951452344. 2
89951452345.3
89951452346. 4

Question Number : 43 Question Id : 89951413446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these 1s popular, but without much theoretical support?

1. Auctions

2 Conjoint analysis

3. Van Westendorp pricing
4. None of the above
Options :

89951452347. 1
89951452348. 2
89951452349. 3
89951452350. 4

Question Number : 44 Question Id : 89951413447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these 15 a segmentation method?

1 k-means clustering
2 Linear regression
3. Logistic regression

4. None of the above

Options :
89951452351. 1
89951452352. 2



89951452353.3
89951452354. 4

Question Number : 45 Question Id : 89951413448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Price discrimination is
1. Illegal

2 Unethical

3. Neither

4. Depends on the situation
Options :
89951452355. 1
89951452356. 2
89951452357. 3
89951452358. 4

Question Number : 46 Question Id : 89951413449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
(1) Auctions are inexpensive and easy to conduct as a pricing tool
(11) The van Westendorp method 1s a popular pricing tool but without much scientific basis.
(1) True, (11)true
(1) True, (11)false
(1) False, (11) true

LS T O

=

(1) False, (11) false
Options :
89951452359. 1
89951452360. 2
89951452361. 3
89951452362. 4

Question Number : 47 Question Id : 89951413450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) In an auction, the seller determines the price based on conjoin analysis.
{11) Auctions can be vsed to measure WTP.

1. (1) Troe, (11)true

2. (1) True, (u)false

3. (1) False, (1) true

4. (1) False, (i1) false

Options :

89951452363. 1
89951452364. 2
89951452365. 3
89951452366. 4

Question Number : 48 Question Id : 89951413451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Conjoint analysis 1s a method to design auctions.

(11) Conjoint Analysis involves showing real products to consumers
1. (1) True, (it)true

2. (1) True, (11)false

3. (1) False, (11) true

4. (1) False, (1) false

Options :

89951452367. 1
89951452368. 2
89951452369. 3
89951452370. 4

Question Number : 49 Question Id : 89951413452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Ideally, correlation between two items in different multi-item scales should be low.

(11) If an item 1n a mults tem scale has very low correlation with others, 1t can be dropped to
improve Cronbach alpha.

(1) True, (i1)true

(1) True, (11)false

(1) False, (11) true

(1) False, (11) false

e



Options :

89951452371. 1
89951452372. 2
89951452373. 3
89951452374. 4

Question Number : 50 Question Id : 89951413453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) For a multi-ttem (1.e. multi-question construct), responses to questions should be lughly
correlated

(11) An 1deal survey question should ask as many questions as possible.

1. (1) True, (11)true

2. (1) True, (u)false

3. (1) False, (11) true

4. (1) False, (11) falze

Options :
89951452375. 1
89951452376. 2

89951452377. 3
89951452378. 4



